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AXimum Marks: 80

Time allowed: 3 Hrs

General Instructions:
n both the sections are compulsory.
h question. s

"

on k each. They are

1. All questions i .
2. Marks for questions are indicated against each d .
3. Question Nos. 1-20 are very short answer questions carrying
ered in one sentence each.
arrying three marKs each, Answers to

required to be answ :
4 Question Nos. 21-24 are short answer questions €
them should normally not exceed 60 words each. . -,
5. Question Nos. 25.30 are also shortanswer questions carrying four Marks each Answers
not exceed 70 words each.
stions carrying six marks each. Answers to them

to them should normally
6. Question Nos. 31-34 are long answer que

should normally not exceed 100 words each.

the result of the large export surplus during the colonial period.

1. Identify
(a) Domestic markets flooded with raw materials
(b) An increase in gold and silver reserves
Scarcity of essential commodities
1

(d) Cheap imported consumer goods
2. Identify an argument that supports the agricultural subsidies in India.

(aY' Reduces the gap between the rich and poor farmers
(b) Reduces government spending on agriculture
(c) Unpopularity of the HYV seeds

(d) Supports fertilizer industries
3. Kavitha, a farmer in rural India, is @ recipientofag

This scheme helps her set up a bank account and provi
social security benefits.
) Sansad Adarsh Gram Yojana

{b) Jan-Dhan Yojana

(c) Kudumbashree

(d) NABARD
4. Read the statements Assertion (A) and Reason (R) and choose the correct option.
Statement 1: The ratio of employed women in urban areas is generally lower than that of

loyment opportunities available

overnment scheme named
des insurance, overdraft and other

employed women in rural areas.
Statement 2: There are a higher number of low-income emp

in rural areas than in urban areas.
Alternatives:
(a) Statement 1 is true and Statement 2 is false.

. (b) Statement 1 is false and Statement 2 is true.

(c) Both statements 1 and 2 are true
(d) Both statements 1 and 2 are false




(a) Cnr:ymg
v FM »\hscrmi\se
() .A\sscmim:ion
{d) Regenemtion
OR
The Unit |
bk (;;{Nahon Genmﬂ Assembly has enlisted a list of 17 Sustainable Development
qm‘p;g ;). 8) to be achieved by 2030. Accordingly, SDG 7 is to "Ensure that everyone has
ACCeSS 10 engy, , sustaing ' -
e el ag » trugpyorthy, sustainable, and modern energy. —. does not Congt'tum1
(8) CNG
(b) Solar energy
(c\ Thermg) power
X (@) Meni-hydei plants
;. Read the Statements given below and choose the correct option. 1
mtaffme"‘ (1): The contribution of the industrial sector to the GVA in India and Pakistan is
é;ub.. lower thap that of China,
se;toe,.ment (2): India and China both are directly moving from agriculture to the services
Alternatives:

Sﬁﬁemem 1is true and Statement 2 is false.
‘lz,/s:atemenn IS false and Statement 2 is true.
B

oth statements 1 and 2 are true
(d) Both statements 1 and 2 are false :
7. Which of the following is not the feature of economic policies pursued under economic
planning of India till 19917 e
Import substitution JREAREE
(b) Self-reliance D
{c) Land reforms )
(d) Unrestricted flow of foreign capital

8. Rohan, the owner of the land, grows only two crops in a year, He works for 8.- 9 months
ployed. In the remaining part of the year, Rohan

I~

and for the rest of the year he remains unem

faces unemployment. 1
(a) Disguised (b) Seasonal (c) Frictional (d) Cyclical

9. Percentage of populatign participating in production activity is called- 1

(3) Labour force 5) Work force (c.) Labour supply (d.) Participation rate

10. Read the following statements carefully :
Statement 1: Human capital benefits only individuals and not the society.
Statement 2 : There are positive externalities of investment in human capital as society.

Alternatives;
(a).Statement 1 is true and Statement 2 Is false.

) Statement 1 is false and Statement 2 is true.
(c) Both Statements 1 and2 are true,
(d) Both Statements | and 2 are false.
11.In China, reforms were introduced in a
reforms were introduced in the
(@) Agriculture g5 industrial

1

phased manner. In the second and later Phases,

sector, 1
(c) Foreign Trade (d) Demographic
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’ - A e - |
zlonel o irreest in Indizn finzngizl merrsts

OR
meEasuTe U resoive the talznce of Eeyments crisis wzs

zn immediziz
(2} 12 free the delermination of rupee value in the foreign exchange marves «-—
guvemenent contrcl,

—~T] B2vziuztion of rupes againet foreign cumencies.

(c) removing the trade barriers — quotas and tarifs,

(<) eimgification of expont and import procedures.
'7. Vinat percentage of GDP was recommendsd by Education Commission (155458 o e
gpemt on educstion: k

(z) 2% (b} 4% c) 3
12. Yictor s ablz to get a job only for Z houzs in 2 day. Rest of the day he is locking for 2 icb

e

Iz e unemployed? Why? i fea s el s
15. Equity in agricuiture calied for , which primarily refer to change in

ovinership of lancg holding.
20.Bznring the use of chiorcfiucrocarbon (CFC) compounds, as well as other ozone
=pleting chemicals is 2ssociated with:
{aj Eruncdang Commision
(b) Appiko Movement
(<) Montres! Protocol
{d) UN Conference on Climate Change 1
21 Suppose you are a smal! farmer in rural India. State any three challenges you are lixely 10
faze yhile hifting to crganic farming. 3
OR
S%?, 7 and dizcuss any three obstacles that hinder the mechanism of agricultural marketing.
¢~ /~2sual workers often viork in very poor working conditions.” Justify tne given statement.3
%f” #/1l you treat the following while estimating Domestic income of Ingia? 3
(2} Salaries received by Indian residents working in the Russian Embassy in India.
(b) Profits earned by a branch of State bank of India in Japan.
(c) Fertilizers used by a farmer,

.
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